tracks vs normalized x? |

recoToSim)

[{

012 14 16 18 20

0 2 4 6 8

track x?

berset

sxoen aredidnp

0.

[N o associated

lized X2

mal

Il

k vs no

ac!

0 tr

[N of reci

10 12 14 16 18 20

track x2

syoen areandnp

syoel axey

0 2 4 6 8

0.

track x2

FAEEEH
< )

o o
— —

syoel axey

~
o
=

024 6 8 10 12 14 16 18 20

10 12 14 16 18 20

4 6 8

2

track x2

Sk

B-BL&sEmvacand

Tet
ranci
ranc

T
n
—_n

— 5

< )
o o
=1 =1

syoesy angy

~
o
=1

syoen

[ Nof reco track vs.

3

-
syoen




	Contents
	Page 1


